Azerbaijan Journal of Mathematics V. 11, No 1, 2021, January ISSN 2218-6816

Ky Fan Inequalities for Bivariate Means

A. Witkowski

Abstract. In this note we give necessary and sufficient conditions for bivariate, homogeneous, symmetric means M and N to satisfy Ky Fan inequalities

$$\frac{M}{M'} < \frac{N}{N'} \qquad \text{and} \qquad \frac{1}{M} - \frac{1}{M'} < \frac{1}{N} - \frac{1}{N'}.$$

Key Words and Phrases: Ky Fan inequality, mean, homogeneity.2010 Mathematics Subject Classifications: 26D60, 26E20

1. Introduction

In mathematics there are many inequalities named after Professor Ky Fan. We find them in matrix and operator theory, Ky Fan-Taussky-Todd inequality generalizes the Wirtinger inequality, Ky Fan minimax inequality is often used in game theory, mathematical economics or control theory. For an overview of Ky Fan results see [8]. In this note we investigate the Ky Fan arithmetic-geometric mean inequality and its generalizations.

Denote by G and A the geometric and arithmetic means of nonnegative numbers x_i , i = 1, ..., n

$$\mathsf{G}(x_1,\ldots,x_n) = \prod_{i=1}^n x_i^{1/n}, \quad \mathsf{A}(x_1,\ldots,x_n) = \frac{1}{n} \sum_{i=1}^n x_i.$$

The classical Ky Fan inequality states that if $0 < x_i \leq 1/2$, then

$$\frac{\mathsf{G}(x_1,\ldots,x_n)}{\mathsf{G}(1-x_1,\ldots,1-x_n)} \leq \frac{\mathsf{A}(x_1,\ldots,x_n)}{\mathsf{A}(1-x_1,\ldots,1-x_n)}.$$

This result has an interesting history: it has been published in [2] with reference to an unpublished result of Ky Fan. In fact, in 1959 Ky Fan published the following problem in [4] (solved by T. Stanisz in [5]).

http://www.azjm.org

67

© 2010 AZJM All rights reserved.

Problem 1. Let f be a measurable function such that $0 < f(x) \leq 1/2$ for $x \in [0,1]$. Prove

$$\frac{\exp\int_0^1 \log f(x) dx}{\int_0^1 f(x) dx} \le \frac{\exp\int_0^1 \log[1 - f(x)] dx}{\int_0^1 [1 - f(x)] dx}.$$

Clearly, from this inequality we easily obtain the Ky Fan inequality by taking $f(x) = x_i$ on the sets of measure 1/n.

The inequality has been generalized in different directions (see e.g. [1, 3]). Especially interesting are the extensions where other bivariate means are involved.

In the papers of Neuman and Sándor [6, 7] we find the following sequence of inequalities:

$$\frac{\mathsf{G}}{\mathsf{G}'} \le \frac{\mathsf{L}}{\mathsf{L}'} \le \frac{\mathsf{P}}{\mathsf{P}'} \le \frac{\mathsf{A}}{\mathsf{A}'} \le \frac{\mathsf{NS}}{\mathsf{NS}'} \le \frac{\mathsf{T}}{\mathsf{T}'},\tag{1}$$

$$\frac{1}{L'} - \frac{1}{L} \le \frac{1}{I'} - \frac{1}{I} \le \frac{1}{A'} - \frac{1}{A}$$
(2)

(here L, P, NS, T, I stand for the logarithmic, first Seiffert, Neuman-Sándor, second Seiffert and identric means of arguments $0 < x, y \le 1/2$, and prime denotes the same mean with arguments 1 - x and 1 - y).

The aim of this note is to establish the conditions for two symmetric, homogeneous means M, N under which the Ky Fan inequalities

$$\frac{M(x,y)}{M(1-x,1-y)} \le \frac{N(x,y)}{N(1-x,1-y)}$$
(3)

and

$$\frac{1}{M(1-x,1-y)} - \frac{1}{M(x,y)} \le \frac{1}{N(1-x,1-y)} - \frac{1}{N(x,y)}$$
(4)

hold, provided $0 < x, y \le 1/2$. We shall use the concept of Seiffert functions, that are in one-to-one correspondence with the symmetric and homogeneous means.

2. Definition and notation

A function $M:\mathbb{R}^2_+\to\mathbb{R}$ is called a mean if for all x,y>0

$$\min(x, y) \le M(x, y) \le \max(x, y).$$

Mean is symmetric if M(x,y) = M(y,x) for all x, y > 0 and homogeneous if for all $\lambda > 0$

$$M(\lambda x, \lambda y) = \lambda M(x, y).$$

68

A function $m: (0,1) \to \mathbb{R}$ satisfying

$$\frac{z}{1+z} \le m(z) \le \frac{z}{1-z}$$

is called a *Seiffert function*.

Let us recall a result from [13].

Theorem 1. The formula

$$M(x,y) = \frac{|x-y|}{2m\left(\frac{|x-y|}{x+y}\right)}$$

establishes a one-to-one correspondence between the set of symmetric, homogeneous means and the set of Seiffert functions.

Remark 1. If there is no risk of ambiguity we shall skip the argument of means. For $0 < x, y \le 1/2$ and an arbitrary mean M we shall write x' = 1 - x, y' = 1 - yand denote M(x', y') by M'.

3. Ky Fan inequalities

Let us introduce first a class of functions.

Definition 1. A function $f : [0,1) \to \mathbb{R}$ is a Ky Fan function if for every $a \in (0,1]$

$$f(a) \ge \sup_{t \in \left[0, \frac{a}{1+2a}\right]} f(t).$$

Remark 2. Note that nondecreasing functions are obviously Ky Fan functions, because $\frac{a}{1+2a} \leq a$, but the class is much broader. If f is nondecreasing in [0, 1/3] and $f(x) \geq f(1/3)$ for x > 1/3, then f is also a Ky Fan function.

Now we prove the theorem that is the key tool in our investigations.

Theorem 2. For a function $f : [0,1] \to \mathbb{R}$ the following conditions are equivalent:

- i) f is a Ky Fan function;
- *ii)* for all $x, y \in (0, 1/2]$

$$f\left(\frac{|x'-y'|}{x'+y'}\right) \le f\left(\frac{|x-y|}{x+y}\right).$$
(5)

Proof. Fix $a \in [0,1)$ and assume without loss of generality that $x \geq y$. Consider the level set

$$I_a = \left\{ (x, y) : \frac{x - y}{x + y} = a \right\} = \left\{ \left(x, \frac{1 - a}{1 + a} x \right) : 0 < x \le 1/2 \right\}.$$

For (x, y) in I_a we have

$$\frac{|x' - y'|}{x' + y'} = \frac{ax}{1 + a - x},$$

which means that for fixed $\frac{|x-y|}{x+y} = a$ the expression $\frac{|x'-y'|}{x'+y'}$ assumes all values between 0 and $\frac{a}{1+2a}$. So if f is a Ky Fan function, then the inequality in ii) holds for all x, y, and *vice versa*, if the inequality ii) holds, then for fixed a the value of f(a) must be not lesser that the greatest of f(u), where $0 \le u \le \frac{a}{1+2a}$, which shows that f is a Ky Fan function.

The consequence of Theorem 2 is the following.

Theorem 3. Let M, N be two symmetric, homogeneous means and let m, n be their Seiffert functions. The Ky Fan inequality

$$\frac{M(x,y)}{M(1-x,1-y)} \le \frac{N(x,y)}{N(1-x,1-y)}$$

holds for all $0 < x, y \le 1/2$ if and only if the function $\frac{m}{n}$ is a Ky Fan function.

Proof. By Theorem 1 the inequality

$$\frac{M(x,y)}{M(1-x,1-y)} \le \frac{N(x,y)}{N(1-x,1-y)}$$

can be written as

$$\frac{m\left(\frac{|x-y|}{2-x-y}\right)}{m\left(\frac{|x-y|}{x+y}\right)} \le \frac{n\left(\frac{|x-y|}{2-x-y}\right)}{n\left(\frac{|x-y|}{x+y}\right)}$$

or

$$\frac{m}{n}\left(\frac{|x-y|}{2-x-y}\right) \le \frac{m}{n}\left(\frac{|x-y|}{x+y}\right),$$

so by Theorem 2 the proof is complete. \blacktriangleleft

As we shall see in the examples below the ratio of two Seiffert means is in general monotone, but at the end of this section we will construct two means satisfying the Ky Fan inequality with nonmonotonic ratio of Seiffert functions.

The next corollary gives a useful criterion to verify if the Ky Fan inequality holds.

70

Corollary 1. Under the assumptions of Theorem 3, if the function $q(t) = \frac{M(1,t)}{N(1,t)}$ increases in (0,1), then for all $0 < x, y \le 1/2$ the Ky Fan inequality

$$\frac{M(x,y)}{M(1-x,1-y)} \le \frac{N(x,y)}{N(1-x,1-y)}$$

holds.

Proof. Let us recall the formula connecting the mean and its Seiffert function ([13]):

$$m(z) = \frac{z}{M(1+z,1-z)}.$$
(6)

This gives:

$$\frac{n}{m}(z) = \frac{M(1+z,1-z)}{N(1+z,1-z)} = \frac{M\left(1,\frac{1-z}{1+z}\right)}{N\left(1,\frac{1-z}{1+z}\right)} = \frac{M(1,s)}{N(1,s)} = q(s)$$

Here $s = \frac{1-z}{1+z}$ decreases from 1 to 0 as z travels in the opposite direction, so n/m decreases if and only if q increases. Therefore, if q increases, then m/n increases, so by Remark 2 is a Ky Fan function, and by Theorem 2 the Ky Fan inequality for means holds.

Let us illustrate our results with some examples:

Example 1. This result was proved by Chan, Goldberg and Gonek in [9]: if

$$\mathsf{A}_{r}(x,y) = \begin{cases} \left(\frac{x^{r}+y^{r}}{2}\right)^{1/r} & r \neq 0, \\ \sqrt{xy} & r = 0 \end{cases}$$

is a power mean of order r, then for r < s

$$\frac{\mathsf{A}_r}{\mathsf{A}_r'} \le \frac{\mathsf{A}_s}{\mathsf{A}_s'}. \tag{7}$$

Indeed, for 0 < t < 1 and $rs \neq 0$

$$\operatorname{sgn} \frac{d}{dt} \log \frac{\mathsf{A}_r(1,t)}{\mathsf{A}_s(1,t)} = \operatorname{sgn} \frac{t^r - t^s}{t(t^r + 1)(t^s + 1)} = \operatorname{sgn}(s - r),$$

else if s = 0, then

$$\operatorname{sgn} \frac{d}{dt} \log \frac{\mathsf{A}_r(1,t)}{\mathsf{A}_0(1,t)} = \operatorname{sgn} \frac{t^r - 1}{2t(t^r + 1)} = -\operatorname{sgn} r,$$

so the inequality (7) is true by Corollary 1.

Example 2. The last term in the chain of inequalities (1) contains the second Seiffert mean

$$\mathsf{T}(x,y) = \frac{|x-y|}{2\arctan\frac{|x-y|}{x+y}}.$$

Let $Q(x, y) = \sqrt{\frac{x^2 + y^2}{2}}$ be the quadratic (or root mean square). We have $t(z) = \arctan z$ and $q(z) = \frac{z}{\sqrt{1+z^2}}$ and

$$\frac{d}{dz}\frac{\mathbf{t}}{\mathbf{q}}(z) = \frac{z - \arctan z}{z^2\sqrt{1+z^2}} > 0,$$

so by Theorem 3 we can extend the chain (1):

$$\frac{\mathsf{T}}{\mathsf{T}'} < \frac{\mathsf{Q}}{\mathsf{Q}'}.$$

Example 3. Consider now the Heronian mean

$$\mathsf{He}(x,y) = \frac{x + \sqrt{xy} + y}{3}.$$

For 0 < t < 1 we have

$$q(t) = \frac{\mathsf{He}(1,t)}{\mathsf{A}_{2/3}(1,t)} = \frac{2\sqrt{2}}{3} \frac{t + \sqrt{t} + 1}{(t^{2/3} + 1)^{3/2}}$$

and

$$\frac{dq}{dt}(t) = \frac{\sqrt{2}}{3} \frac{(1 - t^{1/6})^3 (1 + t^{1/6})}{(1 + t^{2/3})^{5/2} t^{1/2}} > 0.$$

We also see that the quotient

$$\frac{\mathsf{He}(1,t)}{\mathsf{A}_{1/2}(1,t)} = \frac{4}{3} \frac{t + \sqrt{t} + 1}{t + 2\sqrt{t} + 1} = \frac{4}{3} \left[1 - \frac{\sqrt{t}}{t + 2\sqrt{t} + 1} \right]$$
$$= \frac{4}{3} \left[1 - \frac{1}{\sqrt{t} + 2 + \frac{1}{\sqrt{t}}} \right]$$

decreases in (0,1). Therefore by Corollary 1 we have

$$\frac{\mathsf{A}_{1/2}}{\mathsf{A}_{1/2}'} < \frac{\mathsf{He}}{\mathsf{He}'} < \frac{\mathsf{A}_{2/3}}{\mathsf{A}_{2/3}'}.$$

72

Example 4. We know ([11]) that the logarithmic mean $L(x, y) = \frac{x-y}{\log x - \log y}$ satisfies the inequality $L < A_{1/3}$. Consider

$$q(t) = \frac{\mathsf{A}_{1/3}(1,t)}{\mathsf{L}(1,t)} = \frac{(t^{1/3}+1)^3}{8(t-1)}\log t$$

Its derivative equals

$$\frac{dq}{dt}(t) = \frac{(t^{1/3} + 1)^2 [t^{4/3} + t - t^{1/3} - 1 - (t + t^{1/3}) \log t]}{8t(t-1)^2}.$$

To evaluate the sign of the expression in square brackets substitute $t = s^3$ and calculate its Taylor series at $s_0 = 1$:

$$\begin{aligned} t^{4/3} + t - t^{1/3} - 1 - (t + t^{1/3})\log t &= s^4 + s^3 - s - 1 - 3(s^2 + 1)s\log s \\ &= -\sum_{n=5}^{\infty} \frac{n^2 - 5n + 12}{n(n-1)(n-2)(n-3)}(1-s)^n < 0, \end{aligned}$$

which proves the inequality

$$\frac{\mathsf{L}}{\mathsf{L}'} < \frac{\mathsf{A}_{1/3}}{\mathsf{A}'_{1/3}}.$$

Example 5. There is another mean similar to the Seiffert means that lies between the arithmetic and the first Seiffert mean:

$$\mathsf{P}(x,y) = \frac{|x-y|}{2 \arcsin\left(\frac{|x-y|}{x+y}\right)} \le \frac{|x-y|}{2 \sinh\left(\frac{|x-y|}{x+y}\right)} = \mathsf{S}_{\sinh}(x,y) \le \frac{x+y}{2} = \mathsf{A}(x,y).$$

Their respective Seiffert functions are $\arcsin, \sinh and id$. The hyperbolic sine is convex for positive arguments, therefore $\frac{\sinh z}{z}$ increases as a divided difference of a convex function. So by Theorem 3 we conclude

$$\frac{S_{\rm sinh}}{S_{\rm sinh}'} \leq \frac{A}{A'}. \label{eq:Ssinh}$$

Example 6. It is known [10] that $A_{1/2} < P$. We have $a_{1/2}(z) = \frac{2z}{1+\sqrt{1-z^2}}$. To check the monotonicity of $p/a_{1/2}$ we substitute $z = \sin t$ to get $\frac{t}{2\sin t}(1+\cos t)$. Its derivative $\frac{t-\sin t}{2\cos t-2}$ is negative, so

$$\frac{\mathsf{A}_{1/2}}{\mathsf{A}_{1/2}'} < \frac{\mathsf{P}}{\mathsf{P}'}$$

Example 7. The tangent is also a Seiffert function. It satisfies the inequality $\tan z < \operatorname{artanh} z$ for 0 < z < 1, so its means satisfy

$$\mathsf{L}(x,y) = \frac{|x-y|}{2\operatorname{artanh}\left(\frac{|x-y|}{x+y}\right)} < \frac{|x-y|}{2\tan\left(\frac{|x-y|}{x+y}\right)} = \mathsf{S}_{\operatorname{tan}}(x,y).$$

Let us investigate the quotient of the Seiffert functions:

$$\frac{d}{dz}\frac{\operatorname{artanh} z}{\tan z} = \frac{\frac{1}{2}\sin 2z - (1 - z^2)\operatorname{artanh} z}{(1 - z^2)\sin^2 z}.$$

Using Taylor expansion we obtain

$$\begin{split} \frac{1}{2}\sin 2z - (1-z^2) \operatorname{artanh} z &= \frac{1}{2}\sum_{n=0}^{\infty} \frac{(-1)^n (2z)^{2n+1}}{(2n+1)!} - (1-z^2) \sum_{n=0}^{\infty} \frac{z^{2n+1}}{2n+1} \\ &= \sum_{n=1}^{\infty} \frac{1}{(2n+1)(2n-1)} \left[2 + \frac{(-1)^n 4^n (2n-1)}{(2n)!} \right] z^{2n+1} > 0, \end{split}$$

because all the coefficients in square brackets are nonnegative. Thus by Theorem 3

$$\frac{L}{L'} < \frac{S_{\rm tan}}{S'_{\rm tan}}. \label{eq:standard}$$

At the end of this section we give an example of two means that satisfy the Ky Fan inequality, but the ratio of their Seiffert functions is not monotone.

Example 8. Let

$$V(x,y) = \begin{cases} \frac{x+y}{2} & \text{if } \frac{1}{3}x \le y \le 3x, \\ \frac{|x-y|}{2} & \text{otherwise.} \end{cases}$$

Its Seiffert function is given by

$$v(z) = \begin{cases} z & if \quad z \le 1/2, \\ 1 & otherwise. \end{cases}$$

It is easy to verify that v(z)/z is a Ky Fan function, so the inequality $V/V' \leq A/A'$ holds.

4. Harmonic Ky Fan inequalities

In [12] the authors derive the inequalities of type

$$\frac{1}{\mathsf{A}} - \frac{1}{\mathsf{A}'} < \frac{1}{\mathsf{P}} - \frac{1}{\mathsf{P}'}$$

from the inequalities $\mathsf{P}/\mathsf{P}' < \mathsf{A}/\mathsf{A}'$ using some elementary algebraic transformation. Here we show an approach that bases on the concept of Seiffert functions.

Suppose M and N are two symmetric and homogeneous means. Using Theorem 1, the inequality

$$\frac{1}{M} - \frac{1}{M'} \le \frac{1}{N} - \frac{1}{N'}$$

can be written as

$$n\left(\frac{|x'-y'|}{x'+y'}\right) - m\left(\frac{|x'-y'|}{x'+y'}\right) \le n\left(\frac{|x-y|}{x+y}\right) - m\left(\frac{|x-y|}{x+y}\right).$$

Since 2 - x - y > x + y for 0 < x, y < 1/2, using Theorem 2 we can formulate the following result.

Theorem 4. Suppose the means M and N are symmetric and homogeneous and m and n are their Seiffert means. Then the Ky Fan inequality

$$\frac{1}{M} - \frac{1}{M'} \le \frac{1}{N} - \frac{1}{N'}$$

holds if and only if n - m is a Ky Fan function.

Taking into account the formula (6) we set s = (1 + z)/(1 - z) and using similar reasoning as in Corollary 1 we obtain

Corollary 2. Under the assumptions of Theorem 4, if the function

$$g(s) = (s-1)\left(\frac{1}{M(s,1)} - \frac{1}{N(s,1)}\right)$$

decreases for s > 1, then the inequality

$$\frac{1}{M} - \frac{1}{M'} \leq \frac{1}{N} - \frac{1}{N'}$$

holds.

Example 9. Consider the chain of inequalities between Seiffert functions (see [13, Lemma 3.1]) valid for 0 < z < 1

 $z > \operatorname{arsinh} z > \sin z > \operatorname{arctan} z > \tanh z$.

The mean corresponding to the second function is called Neuman-Sándor mean -NS and the fourth one generates the second Seiffert mean -T.

Since $\cosh^2 z - 1 = (\cosh z + 1)(\cosh z - 1) > 2 \cdot \frac{z^2}{2}$,

$$\frac{d}{dz}(\arctan z - \tanh z) = \frac{\cosh^2 z - 1 - z^2}{(1+z^2)\cosh^2 z} > 0.$$

Inequality $\cos z > 1 - z^2/2$ leads to

$$\frac{d}{dz}(\sin z - \arctan z) = \frac{(1+z^2)\cos z - 1}{1+z^2} > \frac{(1+z^2)(1-z^2/2) - 1}{1+z^2} = \frac{z^2(1-z^2)}{2(1+z^2)} > 0.$$

On the other hand, $\cos z < 1-z^2/2+z^4/6$, so

$$\frac{d}{dz}(\operatorname{arsinh} z - \sin z) = \frac{1 - \sqrt{1 + z^2} \cos z}{\sqrt{1 + z^2}} > \frac{1 - \sqrt{(1 + z^2)\left(1 - \frac{z^2}{2} + \frac{z^4}{6}\right)^2}}{\sqrt{1 + z^2}}$$
$$= \frac{1 - \sqrt{1 - \frac{5}{12}z^4(1 - z^2) - \frac{1}{36}z^8(5 - z^2)}}{\sqrt{1 + z^2}} > 0.$$

And finally

$$\frac{d}{dz}(z - \operatorname{arsinh} z) = 1 - \frac{1}{\sqrt{1+z^2}} > 0.$$

Therefore by Theorem 4

$$\frac{1}{\mathsf{S}_{\mathrm{tanh}}} - \frac{1}{\mathsf{S}'_{\mathrm{tanh}}} \leq \frac{1}{\mathsf{T}} - \frac{1}{\mathsf{T}'} \leq \frac{1}{\mathsf{S}_{\mathrm{sin}}} - \frac{1}{\mathsf{S}'_{\mathrm{sin}}} \leq \frac{1}{\mathsf{NS}} - \frac{1}{\mathsf{NS}'} \leq \frac{1}{\mathsf{A}} - \frac{1}{\mathsf{A}'}$$

Example 10. On the other side of the arithmetic mean there are two chains of inequalities for Seiffert means involving sine and tangent (see [13, Lemma 3.2]):

$$z < \sinh z < \left\{ \frac{\tan z}{\arcsin z} \right\} < \operatorname{artanh} z.$$
(8)

The two Seiffert functions in curly brackets are not comparable, arcsine defines the first Seiffert mean and inverse hyperbolic tangent corresponds to the logarithmic mean. The difference $\sinh z - z$ increases, because this is the gap between a convex function and its supporting line.

To show that $\frac{d}{dz}(\tan z - \sinh z) = \frac{1 - \cos^2 z \cosh z}{\cos^2 z}$ is positive note that

$$1 - \cos^2 z \cosh z > 1 - \cos z \cosh z =: f(z).$$

The function f vanishes at z = 0 and

$$f'(z) = \cos z \cosh z (\tan z - \tanh z) > 0,$$

because $\tan z > z > \tanh z$. Thus f' is positive, and so is f.

The difference between inverse hyperbolic tangent and tangent also increases, since

$$\frac{d}{dz}(\operatorname{artanh} z - \tan z)' = \frac{1}{1 - z^2} - \frac{1}{\cos^2 z} = \frac{z^2 - \sin^2 z}{(1 - z^2)\cos^2 z} > 0.$$

To deal with the lower chain of inequalities (8) note that

$$\cosh z = 1 + \frac{z^2}{2!} + \frac{z^4}{4!} + \frac{z^6}{6!} + \dots$$

$$< 1 + \frac{z^2}{2} + \frac{z^4}{12} \left(\frac{1}{2} + \frac{1}{4} + \dots\right) = 1 + \frac{z^2}{2} + \frac{z^4}{12}.$$
(9)

Now

$$\frac{d}{dz}(\arcsin z - \sinh z) = \frac{1 - \sqrt{1 - z^2} \cosh z}{\sqrt{1 - z^2}} > 0,$$

because by (9)

$$\begin{aligned} 1 - \sqrt{1 - z^2} \cosh z &> 1 - \sqrt{\left(1 - z^2\right) \left(1 + \frac{z^2}{2} + \frac{z^4}{12}\right)^2} \\ &= 1 - \sqrt{1 - \frac{7z^4}{12} - \frac{z^6}{3} - \frac{11z^8}{144} - \frac{z^{10}}{144}} > 0 \end{aligned}$$

Comparison of the last pair is simple:

$$\frac{d}{dz}(\operatorname{artanh} z - \operatorname{arcsin} z) = \frac{1}{1 - z^2} - \frac{1}{\sqrt{1 - z^2}} > 0.$$

Now we can use Theorem 4 to write the chain of inequalities

$$\frac{1}{\mathsf{A}} - \frac{1}{\mathsf{A}'} < \frac{1}{\mathsf{S}_{\mathrm{sinh}}} - \frac{1}{\mathsf{S}'_{\mathrm{sinh}}} < \begin{cases} \frac{1}{\mathsf{S}_{\mathrm{tan}}} - \frac{1}{\mathsf{S}'_{\mathrm{tan}}} \\ \frac{1}{\mathsf{P}} - \frac{1}{\mathsf{P}'} \end{cases} < \frac{1}{\mathsf{L}} - \frac{1}{\mathsf{L}'}.$$

Example 11. Consider the means in Example 8. The function

$$v(z) - z = \begin{cases} 0 & \text{if } z \le 1/2, \\ 1 - z & \text{otherwise} \end{cases}$$

is a non-monotonic Ky Fan function, so the inequality

$$\frac{1}{\mathsf{A}} - \frac{1}{\mathsf{A}'} < \frac{1}{V} - \frac{1}{V'}$$

holds.

NOTE: An example of a function that satisfies the inequality

$$f\left(\frac{|x-y|}{x+y}\right) > f\left(\frac{|x'-y'|}{x'+y'}\right)$$

for all 0 < x, y < 1/2, but is not monotone has been provided by *tometomek91* - user of the mathematical portal matematyka.pl.

Acknowledgement

The author wishes to thank Janusz Matkowski and Monika Nowicka for improvement suggestions and efficient bug and typo hunting. My special thanks go to the anonymous referee, who challenged me to convert the ",if" condition in Theorem 4 into "if and only if".

References

- H. Alzer, The inequality of Ky Fan and related results, Acta Applicandae Mathematica, 38(3), 1995, 305–354.
- [2] E.F. Beckenbach, R. Bellman, *Inequalities*, Springer Verlag, Berlin, Heidelberg, 1961.
- [3] J.L. Díaz-Barrero, J.J. Egozcue, J. Gibergans-Báguena, On the Ky Fan inequality and some of its applications, Comput. Math. Appl., 56(9), 2008, 2279-2284.
- [4] Ky Fan, Advanced Problem 4867, The American Mathematical Monthly, 66(8), 1959, 728 p.

- [5] Ky Fan, T. Stanisz, An Integral Inequality: Problem 4867, The American Mathematical Monthly, 67(7), 1960, 703–704.
- [6] E. Neuman, J. Sándor, On the Schwab-Borchardt mean, Math. Pannon., 14(2), 2003, 253–266.
- [7] E. Neuman, J. Sándor, On the Ky Fan inequality and related inequalities II, Bull. Austral. Math. Soc, 72, 2005, 87–107.
- [8] M.S. Moslehian, Ky Fan inequalities, Linear Multilinear Algebra, 60(11-12), 2012, 1313–1325.
- [9] F. Chan, D. Goldberg, S. Gonek, On extensions of an inequality among means, Proc. Amer. Math. Soc., 42(1), 1974, 202–207.
- [10] A.A. Jagers, Solution of problem 887, Nieuw Arch. Wisk, 12(4), 1994, 230–231.
- [11] Tung Po Lin, The power mean and the logarithmic mean, Amer. Math. Monthly, 81, 1974, 879–883.
- [12] E. Neuman, J. Sándor, On the Schwab-Borchardt mean. II, Math. Pannon., 17(1), 2006, 49–59.
- [13] A. Witkowski, On Seiffert-like means, J. Math. Inequal., 9(4), 2015, 1071– 1092.

Alfred Witkowski UTP University of Science and Technology Al. prof. Kaliskiego 7, 85-796 Bydgoszcz, Poland E-mail: alfred.witkowski@utp.edu.pl

Received 03 March 2019 Accepted 27 June 2020